rn&%l-p ”‘/26 "@
MW@W\]&J CQ_S'lrnAL_i(or\-

A b_tLbMo QE?G—TLMA‘{; (s one= w\"L ouu.( Lt
Fo,s:\lo(c. Qé‘l'coune.‘;, colled o suece 83 oud a

fodure.

_Lxarple {

(o) Flara Losr cOLn define soceess = eminn lardds

heods. Thew Ploxees)s ©.5 = 507. ,
(b) A 4070 {W‘Eadl SLDO'}@ {tckes o '3"130(.\»}’
-S('\O‘t)‘ define sLcczss = shot 15 wede, Thew
Plsuccess)* 4O .
lc.) Roll o ‘(?&_;:r_: = * cﬁeﬂwc. suco:.ss:cha
lovds on §. Thew Pl = Vo2 16.677.

PTO?O&'* 101

Tu o 6me.'1o.l c—l‘lwov:t ot P(swccss)
=f>, Qi X‘ r\vu..éar’ ol suecmse=s (m a S:Z'c émc\»n.
Thew E(X)= P.

Proct For such aun afaﬂw’(‘,, k= hove
E(X)= % z-P(X=%)
= O+ P(X=0) +1- P(x=1),

siwce the ooteone 5 cdber o failore (X=0)
or o sueeess (X21). Nows P(X=1) = Plsoccess)

= 5, 5o P(X=0) = P(fa.lure) = l-[a (Sinee Plsuccess)
"'P(-@a.\.lure,) }wus'(', 4¢'Luc-.l 1 ),S¢

E(xj= O- (t-P) + i’f‘ = p- 0



€3

E cawple ,

I8 X « the nowber of 3-pont field (s
Mc«tgc b Q. 4070 3?0'.»«'(; slaao‘bffc:'w o S mlc..z:b:},
thein (X)CO-LI.

L&. ,5 r‘o.ln-ﬁ f' beo. Al‘}

A '907% 3-pounil shoster n-akes 7 af

Lot X be tre vombor wode out of 4 |

/e Fmﬂ P(X=L])‘ Asstine {he shah are
‘I\A&&Pw&;u{.

Solutiow .

O'C 'H’B 76’\0'}5, '“vel‘c. [ Y X 2 (‘ZJ f@t‘llﬂés
‘co\- Uaé\t&b\ Llpgc i\h.

For ecch of these Z ) foswl)./n'}zcs, The

cobobildy of exactly these 4 ben M&A
CF[AD "7{'\4’10”"\44‘ 3 t‘cl mt&scﬁ:qs ) 6 X’)ou.s
g 7
PR of lost 'ﬁ:wc)

4 3
‘@ oq .O.L‘ 'O-ﬁ’OoLII‘IDb 6 - O. 6. Oc6| ot O.q 0‘6 -
q lats 3 pmisses

So, 'pmadh[:

, R
P(X=4)= (1) 0.4 0.6
> 0.)935 = |9.35 4.

LCia,S ro..u._f ut e\/en ‘ror"[/»<r )



©,
Lheoreu..

Tf 6 bwowsal, cxrartm‘b, worth p(suc.ccss)
i‘{roew‘ﬁe& n Cum

=P
Tad Kk e mobor b
01 successes w these n ‘l‘.r\a.ls, ‘H\cv\

P(X=k) = (g)t)k(l?)h-k (O k2p).

(osstmong the Aol are ndepend=ct ).
(Proof o-g‘ﬂz:&f l"’s hke EXCZJ:B-.JDIQ. A O.MC.)

Exowyle Y.

v An uu‘Fa-.;P w:m, ot P(lvzd-&SJ < 23)
S ?l»ﬁc& 3 times. Ll VY be the nowa
of RA@QS ’H\aj come v

r
P Fud) the phs {&r
Y. Also ‘Pw& E(V).

Selotion.
B'T the

)

119, 2¢3
p(Y=0)= (o) (3) ()= %7
pY=y= ( }('/;’)'(’@*:"/37

3
(
P(Y=2)= (3) CAY(2h) = San
P(Y—-—?g'-‘- (f\('/a\)53 (‘/3:")""3 Y22
(/VO% tlnai '“w: t\ncLo.Atll'bGS c-.aQ& ‘60 1.)

Al ;
CEY) = 0 Hav | Tarr d-irt 3 7

= 3% = |.



